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Syntax: if-else &

ES) if =34 .
a1

else :
s VA

if price > 20000 :|
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'shipping_cost
ielse :f
| |shipping_cost
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price = int(input("&A 2| JtA: ")
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# i sSHIE Z2E el
if price > 20000 :
shipping_cost=0
else:
shipping_cost = 3000

#BHSHIE %QOFU.
print("Bi =Bl =", shipping_cost)

&3 2| Jh=: 30000
=l = 0
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if price > 20000 :

ooooshipping cost = @ L =
oooodiscount = 0.1
else :

shipping_cost = 3600

if price > 20000 :
ooooshipping_cost = @
oopoondiscount = 0.1

—— S0MIP EebM St E=0] OfL|CE

else :
shipping_cost = 3000

Alg
= A3 200}

IndentationError: unexpected indent
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shipping_cost = 3000 # =822 HisHl= 30003 0| Ct.
if price >20000 : # OHoF &S0l D12 0] 28HE =1H0[H
shipping_cost =0 # B SHI0F 8iC.
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x and y and ¢4 x2} y7t 25 FHOIH &, J=X| 2SH A3

X Or Y OR ¢4, xLt ySO0ilA SHLIRH FOIH &, 25 HAIO0|IH HAH
not x not ¢4, x7t FOIH HA, x7t HAO0|H F
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@ric_gﬂ > 20000 %],nd elird —= 'bython")
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A B Aand B A B AorB A not A
True True True True True True True False
True False False True False True True True
False True False False True True
False False False False False False
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price = int(input("Jt 2 = L= 6tA
o]

12:)
card = float(input("It= S FE £

OtAI2: ™))

if price > 20000 and card == "python" :
print("tH = = It A= LICE")

else
print("tH & 2 = 30002 /LI Ch.")
IS 21251 Al 2: 30000
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—(PAQ) = (—=P)V(—-0Q),

if not (country == "&=" and province != "HlF=") :
shipping_cost = 8000

<

if country !="&=" or province == "HX|F" :
shipping_cost = 8000
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max_value = (x if x > y else y)

shipping_cost = ( 0 if price >= 20000 else 3000 )

absolute_value = (x if x > 0 else -x) /I 2Ot H &t
max_value = (x if x >y else y) /I = CHgt Al &t
min_value = (x if x <y else y) /I = A gt Al &t
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x = int(input("z SR == ="))

y = int(input("S SR == ="))

max_value = (x if x >y else y)

min_value = (y if x > y else x)

print("2 ===", max_value, "% 2 =", min_value)
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import random
number = random.randint(1, 100)
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& Solution

Hit
#0l T2 )32 &+ =HE SHetth
#

import random

x = random.randint(1, 100)
y = random.randint(1, 100)

answer = int(input(f{x} + {y} = "))
#5280 2UE HEot) S 6t

flag = (answer == (x+y))
print(flag)
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g Solution
I

import random

print"sS& EXIJ| HE = A& ELICE")
coin = random.randrange(2)

if coin==0:

print("2r & 2/ LI C.")
else :

print("= S & LI CH.")
print("AHI 0| S & ASLICE")

QUE | Atol2] LEAE

randint(O, 1




2 2 6t Al 2: ilovepython

2 26t Al 2: iloveruby

= gl&LICHL




g Solution
I

id = "ilovepython"
s = input("Ol0ICIE Y& 5IAI2:")

if s ==id:
print("&H = & LI C}")

else:

print("Ot0ICI S &S == A SLICL")
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#AMNENZEH &4F2 tHAS A= =C1.
country = input("tH & XI (& i = korea2t usBt Jts): ")
price = int(input("& 2| JtA: "))

# BHSHIE 2 & et
if country == "korea":
if price >= 20000 :
shipping_cost=0
else :
shipping_cost = 3000
else :
if price >= 100000 :
shipping_cost=0
else :
shipping_cost = 8000

# UlSHIE &= 6t
print("Hi S 8| =", shipping_cost)
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Z&ot=e T2 1A
score = int(input("d & = Y HotAI2: "))

if score >= 90 :
print("st& A")
elif score >= 80 :
print("=r & B")
elif score >= 70 :
print("=r & C")
elif score >= 60 :
print("=r & D")
else :
print("sf & F")
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& Solution

#it
# Ol 2 )2 2ol # 22 &0tA Llol&EEE
#
scale = float(input("2I3|E&f # 22 LEGIAI2: ")
if scale >=8.0:

print("CHE =2 2 A=0| W ELICEH ")
elif scale >=7.0 :

print("X| EH0N 2 Z 0| & M4SHLICEH")
elif scale >=4.0 :

print("B!2fst A= 0l 2 Lo It A—SLICEH ")
elif scale >= 2.0 :

print(("= 4 =0 E=c| AL EH&ELICE")
else :

print("X| & H Off 2o M Bt &8 X| Dt s & LICH ™)
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& Solution

Hit

=

#
import random

print("E =22 WA =Z =2 2AHE
answers = random.randint(1, 8)
if answers == 1:

print("& &3] 0| & LICH")
elif answers == 2:

print("Z 0} 20IUIK")
elif answers == 3:

print"2 2 & = LICL")
elif answers == 4:

print("X 2| 44210l = no& LILCE")
else:

print("CtAl 2 2ol =N R.")

# Ol Z2 )82 2=2 2A
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§ Python Turtle Graph... X

SEE AHsAL:
|
oK Cancel |

¢ Python Turtle Graph... X

e
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oK

cancel |
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¢ Python Turtle Graph... X

MHE:

100

oK

Cancel




d

[ J
Solution
HH
# Ol 22 12 AtE Xt dole £ &S 2130 el
#
import turtle

t = turtle. Turtle()
t.shape("turtle")

s = turtle.textinput("", "= = Y= 0tAI2: ")

if s =="AF2&":

w = int(turtle.textinput(","Jt2: "))
h = int(turtle.textinput("","AI 2: "))
t.forward(w)

t.1eft(90)

t.forward(h)

t.1eft(90)

t.forward(w)

t.1eft(90)

t.forward(h)

turtle.done()
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if (user+1)%3 == computer : print(“*t
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